WKC4.4T-3/TXG
RITESMERES B4 . PUR — Connection cable

—e——
——
:J
HARHBEE B
1P67/
"5 6628968 400D e
BE4A 7Lk, M12 x 1, B, A-coded ) 4 L
= QQGIGG(
HHBE 4 M Female M12, angled, 4-pin
fih g 1, CuzZn, E2 NP EMR : PUR
BHPEHE ke
i QR R B, TPU, B& WE F ks
&~ W EtEm,. ENL, Th
ki 2, TPU, 8 WEAEME (UL 1581 FT2. IEC
E IR RET 4, Cuzn, 4 60332-2-2 )
" W R K AE
Seal B H, FPM/FKM ETEXE. BHE. PVCHLABS
Gk > 100 R 5 5 Y B 452
——— HE5PZE : IP67. IP69K
EREE 3 BELKE :3m
RipEE IP67, IP6OK, (REFTFERST X
SHEEH
B4
SLHER @ 4.7 mm +0.20
®EKE 3m
SYhE PUR, J&
S g PP
KOEER 4 x 0.34 mm2
Kk, mE 42 x 0.1 mm
SEHE BN, WH, BU, BK
B M4EE@20°C
BETIT/EBE 250 V
Wi B E 2000 V
il A i 5 B
“ 4 PR > 30.5 MQ/km
E@ErE BRAK{E 57 Q/km

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

WKC4.4T-3/TXG| 29-07-2023 21-00 | REHARME R



BAREE
2WH

YA L2 EEE 1BN 3BU
THEE (EERRE) > 5x@ e
THER (M) > 10 x@
EH¥ER 258A
FYIEE 8% 5 m/s® B
B ATAEIBBE 5 m (5 m/s* i) o N
EHEELERE 2m (5 mis?ht ) e WH
BV EREE 3.3 mis L2 BK
R + 180 °/m | 32 =
B -50 °C...+80 °C
Y X i3 -25°C...+80°C
HeSER) TETRIEIR -25 °C...+60 °C
ANE cULus

B4

TORQUE-WRENCH-SET-AS 6936170 BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206

HAS8141-0

~46.8
0153 5
14
| =5 HE

I =2

L =5 I

3
M12x1 13

BS8141-0

~60.4
25 AL
0202 18 14 13

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

WERFER ; KETEHLE0.4-1.0
Nm , B FM8 (SWO)H4ERTF , A
FM12 (SW 14)8 R F

6905406

7 L N KERERS |, M12 x 1,
B A4, BERIZTER , B
££4.0-5.1 mm, L CEBH/KIRRE
0.14-0.34 mm? , BRIHNE |, ¢RIER

69010

N EL N KERES , M12x1 | B
B 4%, 1RRE AL | BARE
P F4.086.0 mm , LSEBE/E

LA ARET0.14F0.75 mm? , ¥

A&, EEEERT

HAS8241-0

BS8241-0

426
©20.2

TEL M TXL &4t , KE : 18
mm , S : 4mm , #E : REEKE
(PC), Hits : A2, TEX%E , AR

6905400
AL N KERERS , M12x1, B
AR A4, BERTER , BY5)
££4.0-5.1 mm, EREEE/RIGERE
0.14-0.34 mm? , BRIH% | ©RIEF

69011

Mg EgERE , M12x1, B
X, 44, IRER LR | &5k
4.0F6.0 mm , KSEBEH/AZEET
AER0.14F0.75 mm? , BRINZE |
S B EEIRT

WKC4.4T-3/TXG| 29-07-2023 21-00 | REHARME R



FW-ERSPMO0426-SA-P-0408 100002048 FW-ERSPM0416-SA-S-0408 100002288
M TEEAKER 121, B M TELAREES , M12x 1, B
B 4k, HAER, BHE144.0 2 45 MEXBAAES , D43
280 mm , AEMBE/ELETRE | | 240F80mm, HOMBE/ELL

0.14E0.75 mm? , ZRNE , £
& E4RET

AAEIR0.25F1.5 mm? , BHEIHNFE |
&8 EERET

100002290

M AL N LER/YE , M12x1 B
AR 4%, BERIBELEER , B8
5|44.028.0 mm , &S HEBE/EL
RTAREFR0.25F1.5 mm? , BRI
=, *EEERT

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3

WKC4.4T-3/TXG| 29-07-2023 21-00 | REHARME R



